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/\Solve by Factoring #1-2
\

1. 6x-=27+21x

Factored Form:

Solution:

2. 18x*=32

| Factored Form:

Solution:

Solve by completing the square method
3. 4x*>=15x+16+9x

Solve by completing the square method
4. 2x*=20x+8

Solution: Solution:
b+ b2 - 4ac Use quadratic equation and discriminant to solve:
- 2a ' - 3
Use discriminant to find the below 6. 5x"-2-x=5x+9
5. x*2=6x-9
Discriminant

U Nature of solution:

Solution:
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Solve by Factoring #1-2

. 6x2=27+21x 1T w2y
ex-2le-27=0 T 42 -7

3(ax-Zx=1) =0
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----- Factored Form: 3[)&“)(2){"7)
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Solution:
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Factored Form;: o4 / Sx+ 4 )/ X Z\f )
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Solution:

Solve by completing the square method

3. 4x*=15x+16+9 /S
Lix f24><~})2 0 (J (6)

o TH 4 %
X —€x —4 =0 x-3= 13
et T =447 | X=32)73

Solve by completing the square method

4,. 2x*=20x+8 J s
Ax*=20% =8 =0 “”' ( ) -5 -
Planad =

P S
Xetox =4 = ®

Q/oY‘ﬁE”‘q 25 (o5 = fJWM11>

w-s) =217
ﬁ:’i X=3+ )37

Solution: X = 32V 3 Solution: = 5 _,"f,)‘ 29
b /22 —4dc Use quadﬁratic equation and discriminant to solve:
a
Use discriminant to find the below 6. 5 xz:; 2-x=3x+9 X2 -2 ,)é’ 2 Yy
. A=l S -2 -x-5x~ <
5. x*=6x-9 lo”‘ e = I 2 e
X-6xt720 . 5x~6x~ll = e
C =1 : X= £+, 254
2 ac ‘
{3 —tta C )= - 2($)
2
§ 41 1) c=-tl
F-3(=0 Litac ,
~ Discriminant @, 36*(‘/' 5-”‘“) =256 N
Nature of solution: { Peal U

Solution:
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Form: a= Opens: ____
Vertex: AOS:
C . xHnf: y-int:
Domain: _ Range:
End Behavior: . As x— «,f(x) >
As X—> =0, f(x} »
Interval of Increase:
Interval of Decrease:
Interval(s) of Positive:
Interval(s) of Negative:
Min:
Max:
Average Rate of Change from [4, 6] =
Y
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; L) y=20+3x-1
Form: a= Opens:
Vertex: ACS:
x-inf: y-int:
Domain: Range:
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End Behavior: As x—» o, f{x) —
AS X—» ~00,f(X) -

Interval of increase:

Interval of Decrease:

Interval(s} of Positive:

Interval(s) of Negative:
Min:
Max:
Average Rate of Change from [-4, 0] =
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Analytic Geometry Unit 5B Practice

@ =-x-ap+is e (3

Form: a= Opens._______
Vertex: AOS: ,
X-int: y-int: -4
Domain: Range: St :
End Behavior: As Xx— w,f(x) - 2 ?

As X —» —0, f(x) - 1o
Inferval of Increase: S
interval of Decrease: &
Interval(s) of Positive: &3
Interval(s) of Negative: 2 i i
Min: v : g ;, o n§1'>
Max: o :
Average Rate of Change from [0, 2] = fév '

®
J
,D)y=—x2—10x—21

Form: a=___ Opens:______ 4
Vertex: AQOS: W , |
*-int: y-int: ‘ ' f ‘ '
Domain: Range: T R T
End Behavior: As x—» o,f(x) > ,i

As X - —0,f(X) — ' 2 )
Interval of Increase: _ -10: %*-__-5__-_*’ = 2 .i__%',_:_,:-z o
Interval of Decrease: I ' 52 ) !
Interval(s) of Positive: T 4 f
interval{s) of Negative: 5 ;
Min: —:8 5
Max: TC

Average Rate of Change from [-6, -2] =




Analytic Geometry Unit 5B Practice )('
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Form: 5!4””’{&‘{4? a= l Opens:ﬁﬁ_ 3 .,,,ﬁ
vertex,_{(2,=1 pos:_ X = flay 4 i
int: (= y-int: CO “12’) "
Shad Range: _[ = lé 00 s
End Behavior: . As x— «,f(x) - = e =T P 4,5%‘*
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Domain: / ~—00 r,b\ Range: é g oD ) 4
End Behav&or As x—+oof(x)——> +o00 2
AS X —00, f(x)“’+m ol Bk e T AR
Interval of Incredse: (- [ 05 ) T2
Interval of Decrease: (= 623 A - | 1 411
Interval(s) of Positive: ( 60 43 ) (// / o0 ) , : &4
Im‘ervol(s) of Negative: l~3 /\ et \ﬂé : T -
Min: (= -—X‘l o =% | B ‘{'GV ’ L1
Max: __ /’)bh_rz, . ‘ [ N Ny X Y
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Analytic Geometry Unit 5B Practice

QT. y=-(x-4)2+16

Form: \/@L{'IZ.X as= ﬁ,. Opens:_@‘m
Vertex: L" ‘ ACS: X = ‘
x-int: (0 v ?'}) y-int: 4 0 0)
Domain: (Ob 00> chge ( OO /é7
- 00

End Behavior: As x— ,f(x} >

As X~> —0,f(x) = o0
(-00,4)

(4 o)
Interval(s) of Positive: ( o, &) )

Interval{s) of Negative: (~w O) U/? )
Min: __ NoNL _

Max: (Lf /é) §v /6

Average Rate of Change from [0, 2] =

(OJOJ [20 “6

Interval of Increase:

Interval of Decrease:

(2,12) 2- o

—x2 - 10x - 21

H v=

Form: 5’7L5"""£64'J a= -/ Opensr@h-

Vertex: ‘{“5: i) pos:_X=~5
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C"O“d 00_,) Range: _(—O® "5 /

Domain:

{2
15

15~
(2.

Ny pupr | X
-

Y

8

N

—
bt}

[x1]

[+

1

A4

=8

End Behavior: As x—» w,f(x) - _ o5
As X — —0,f(X) - oo
Interval of Increase: ~0 ~5 )
Interval of Decrease: ( € OO)
Interval(s) of Positive: (-2 '-3 )
Interval(s) of Negative: (- 2 "~7 \ U( 00)
Min; _lone
(=6 4) ov Lt
"7 t
Average Rate of Change from [-6, -2] =
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Review  Cdwestions
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Review huestions
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